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ORI Aelg Na 30,000& *90CH 2,700
ANASALEHE 20 - = 182,238 149,854 32,384
201 LBt 156,330 133,370 22,960
01 At 22l 43,035 46,035 A 3,000
OFIIBA B8N M= 603 «6000H x12& 432
OSREE It ddAM M= 70&+7000H+12& 588
OdAMXH BEHE 28 DXM HE
702 *3000H =123 252
OSREE 01ty Wz 28 IXNAM MH
702 «8000H x12& 672
OtEHE 20 DX A M 703 +5,0000H 122 4,200
OlEHE XM =482 dold =2y EH 2
2 237,000& +3CH 63 4,266
OLRXAM eletel s/ 428 7
237,000 »1CH x4 3] 948
OGXX&EH =82 S 160,000 «1CH =128 1,920
OF=E M= 50& 40,0004 2,000
ONEHE HEXE TS WS ME
3,950 x50 128 237
OMetheE H = 230&=10,0000H 2,300
OEHE MY LHMAEeII2 ZcHHE ME
110,000 =6 23] 1,320
ozgl 3,780
- DEDEUE ALY AL FX S2 0
AlH| 7,000 5«9 » 12 3,780
OXEIE H&EdE EX ¥
10,0002 x 10+ 12& 120
OHXEZE 2 JNER 0IEZ
20,000,000 » 14! 20,000
02 2324l 113,295 87,335 25,960
OXNsIUEHE ST 103,680
—seE= 2,700&*2,50000 x12& 81,000
—LEREE 2703 *7,00001 128 22,680
OXNAEELE(5E) 700,000 = 1CH 700
OXsSxEAZ 50,000& x13] 50
Ox8sE RFU 4,100,000 = 1CH 4,100
OZXANAE KX E=H 300,000& »12& 3,600
Ogxxg =6 S 1,100, 000& 14 1,100
OXtS XA 65,000 = 1CH 65
202 oddl 5,908 6,484 AB76
01 SLHOIYI 5,908 6,484 A576
OXsx s n&E MEH = & el &
el EH 0 225,600 x3Y x4 3] 2,708




2N AASUHSEARL
HM: FUYSZAIOA 29
L= B o

Sel NSHES UANHIA HB(REALSHE) (ol @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OXsSAh HAXZ LHEZAH(Z2)
160, 000& *5H x4 3] 3,200
303 A2 10,000 10,000 0
01 ZAa2 10,000 10,000 0
ODEE Mol+y Fa T3
500,000,000& * 1% 5,000
Ol HYxzg Hasm 93X sRF Z&
5,000& *1,000CH 5,000
405 Ko SHI 10,000 0 10,000
01 A&t = S F SHI 10,000 0 10,000
EUIE DEHE SESUI(ANEESNAY
xX37]) 2,000, 000& *5CH 10,000
HESAAL (ASUASEALRL) 203,372 181,401 21,971
OIHSAY|(WNEAMNBELIAH) 81,736 65,378 16,358
ol 2AHH| 81,736 65,378 16,358
101 @121l 81,736 65,378 16,358
03 I HLs22 HE 62,025 46,802 15,223
OXNsSXHsSE H3Y g2 2 31,099
A=) 1,251,000& x1H »12& 15,012
— &3 1,251,000 »1H «4& 5,004
— AX =G 77,3603 x1H x10 774
— @& S0y| 200,000& x1H x23| 400
— JIAHI 2 X H| 80,000& x1H ~12& 960
— st 50,000& * 1 x123] 600
— =4l 80,000& x1H x12& 960
- X84 50,000& * 1 x123] 600
— AN2Hd =& 9,670& *1.5%x15A| 2t x 128 2,611
-5 77,360 %1.5x3 x12& 4,178
O SAIE g28=x 30,926
-Jl= 1,251,000& x1H ~12& 15,012
— &2 1,251,000 »1H 4 & 5,004
— AX =G 60,080& x1H «10 601
— &S| 200,000 x1H 23| 400
— JIAHI 2 & H| 80,000& x1H ~12& 960
— st 50,000& *1H x123] 600
— =24l 80,000& x1H x12& 960
- X¥d 50,000 12 x123] 600
— A2t =S 9,670& *1.5%x15A| 2tx12& 2,611
—s5axg 77,360 %1.5x3 «12& 4,178
04 JI2ZtH 22 XNEE % 19,711 18,576 1,135
QllElg g2 =X 19,711




2N AASUHSEARL
BE: HWRARY (HSHSSARL)
el QlHE2HH (RSAISSLESIAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
—Jles 48,6403 x 12 x248 12,063
—AN2eZRH 9, 120 & x25A] 2+ 128 2,736
PN a=E = 48,6403 15«8 390
-5 48,6403 x 1 52 2,530
— =AM 2,000 «23| x1H 248 992
—Ws2L| 50,0003 x 18 +128 600
— ZE S| 200,000& »23] 400
IN2ZH(NSRSEANSL)(RSALSHSIH) 121,636 116,023 5,613
2B (NSHSESMRL) 121,636 116,023 5,613
201 £B-2dH| 85,271 74,821 10,450
01 At 22/ 56,140 52,340 3,800
Ogta 2] 47,002
— &Y JlE ANRES 100,000& = 18H 1,800
— SIS (EHLEYE 2 5)
480,000& *3CH 43 5,760
—SAENFY 20,000& x 129 A %128 2,880
—Tgy ¥ ™A ADE 2
400,000& x203| 8,000
—QEI AZE FY(EE EX . Y2)
910 OOO’:’J *24 1,820
- XNSUHEES 8X ME S(228)
60,0003 x16H x12& 11,520
— MBol s 2 AEIH ME
1,000& x6Z *1,0000H 6,000
—A4IH =AM BHA S |-DEE +¥
350,000& =13 350
—=BUJIE X 2 95,000 108 A 950
—dAHSE HE L 2L (>EXNSFSIH)
1,500 *800 0K 1,200
— W27 2eltl 56,000& 123 672
—ANSUHEEANRL 2282 L (BEHM S
£ 878) 150,000& = 12& 1,800
— 20gH| =2 130,000& 128 1,560
—Hld el (des &)
25,000 »4CH »32] 300
—HSUIIE JAH & NHESTEHS dHAL
8 ZXZH |FAE=H 200,000& x53| 1,000
— =X SIXAN AEIIE HE =8
369,998,000 *20%*2. 0% 1,480
OLANE SAI| & BHA 2z
100,000 1200 & 1,200
Ogaa 22X o=l 200,000%9H 1,800
O= &l 6,048
—AASAHSEYR =4 E2 A
7,000 «18H 43| <123 6,048




2AN: NSIUHEEANRL
M. HHSABH(NSASSARA)
S J2ZH(NSUASEMEN)(LEANSELIAH) (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
02 3524l 29,131 22,481 6,650
O 222 ¢ WA 17,924
—SFHRE S 50,000& *23] 100
—HN3AE S 80,000& *1CHx12& 960
—&IIANES 1,000,000& «12& 12,000
— MOl AIE= 300,000& x12& 3,600
~NEXNSSAPL NANG HWESHE2
700,000& *13] 700
— 0o Mg oIyl 3l&d= 30,000& x12& 360
—TValE 17,000 x1CH = 12& 204
OA& &l S XYl 11,207
—2A2RAN L F=XE 1,101m 7 000& 7,707
— CCTV = Xl &2 =4l 500, 000& =7 H 3,500
202 044l 36,365 36,202 163
01 2LHOHI 36,365 36,202 163
OXNSXUHSEIR =X 2UHAHYI
20,000 «18H x83| x 12& 34,560
ONZX As =mUWESEHWHI
225,600 x4H x23| 1,805




